MAT257 Analysis Il on November 2, 2020: Integrability and continuity.
Read Along: Splvak 46 56.

rodadda

Riddle Along: Cars A, B C D drlve in the Sahara Desert on generlc stralght lines and at constant speed,; it is known that A meets B
~ (they arrive at the same place at the same time), A meets C, A meets D, B meets C, and B meets D. Does C necessarily meet D?
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MAT257 Analysis Il on November 4, 2020: Integrability, continuity, measure 0.

Read Along: Spivak 46-56 (warning: pf of Thm 3-8 is buggy; see page 145).
— | hope the Term Test went welll | have no comments yet. The deadline to report technical issues is today at 7PM; several o

outstanding issues will be resolved tomorrow. P
~ Riddle Along: Cars A,B,C,D drive in the Sahara Desert on generic straight lines and at constant speed; it is known that A meets |
(they arrive at the same place at the same time), A meets C, A meets D, B meets C, and B meets D. Does C necessarily meet D7
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MAT257 Analysis Il on November 6, 2020: Integrability, continuity, measure 0.

Read Along: Spivak 46-56 (warning: pf of Thm 3-8 is buggy; see page 145).

Riddle Along: Car: A B,C,D drive in The Sahara Desert on generic straight lines and at constant speed; it is known tha’rA meets B
(they arrive at the same place at the same time), A meets C, A meets D, B meets C, and B meets D. Does C necessarily meet D?
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